MATHEMATICAL BIOSCIENCES AND ENGINEERING Volume 3, Number 1, January 2006

# THE STABILITY OF AN SIR EPIDEMIC MODEL WITH TIME DELAYS

#### Zhen Jin

Department of mathematics, North University of China Taiyuan 030051, PR China

### Zhien Ma

Department of Applied Mathematics, Xi'an Jiaotong University Xi'an 710049, PR China

ABSTRACT. In this paper, an SIR epidemic model for the spread of an infectious disease transmitted by direct contact among humans and vectors (mosquitoes) which have an incubation time to become infectious is formulated. It is shown that a disease-free equilibrium point is globally stable if no endemic equilibrium point exists. Further, the endemic equilibrium point (if it exists) is globally stable with respect to a "weak delay". Some known results are generalized.

1. Introduction. A model for the spread of an infectious disease transmitted by a vector (e.g, mosquitoes) was proposed by Cooke [1]. Extensions of his model, were considered by Busenberg and Cooke [2], Marcati and Pozio [3], Volz [4], and Beretta etc [5,7-9]. They considered only the spread of an infectious disease transmitted by a vector. In fact, the dynamics of some diseases (e.g, dengue fever, chagas disease, malaria) are influenced by many factors involving humans, the vector and the blood transfusion transmission, as well as the environment, which directly or indirectly affects these elements and the interrelations among them [10]. In this paper, we consider an SIR epidemic models for the spread of an infectious disease transmitted by direct contact among humans and vectors (mosquitoes) which have an incubation time to become infectious. The model still can be considered an extension of Cooke's model.

Let S(t) be the number of members of a population susceptible to the disease, I(t) be the number of infective members, and R(t) be the number of members who have been removed from the possibility of infection through full immunity. Then the epidemic models for the spread of an infectious disease transmitted by vectors and humans can be described by the following system:

$$\begin{cases} S'(t) = b - \beta_1 S(t) \int_0^h f(s) I(t-s) ds - \beta_2 S(t) I(t) - \mu S(t), \\ I'(t) = \beta_1 S(t) \int_0^h f(s) I(t-s) ds + \beta_2 S(t) I(t) - (\mu + \lambda + c) I(t), \\ R'(t) = \lambda I(t) - \mu R(t), \end{cases}$$
(1.1)

<sup>2000</sup> Mathematics Subject Classification. 92D30, 34K20, 34K25.

 $Key\ words\ and\ phrases.$  SIR epidemic model, time delay, global asymptotic stability, Lyapunov functional.

where the constant coefficients are all positive. The f is usually nonnegative and continuous, and  $\int_0^h f(\tau) d\tau = 1$ . As usual, the initial condition of (1.1) is given as

$$S(\theta) = \varphi_1(\theta), I(\theta) = \varphi_2(\theta), R(\theta) = \varphi_3(\theta), \ (-h \le \theta \le 0),$$
(1.2)

where  $\varphi = (\varphi_1, \varphi_2, \varphi_3)^T \in C$  such that  $\varphi_i(\theta) = \varphi_i(0) \ge 0 \ (-h \le \theta \le 0 \ i = 1, 3),$  $\varphi_2(\theta) \ge 0(-h \le \theta \le 0)$ , and C denotes the Banach space  $C = C([-h, 0], R^3)$  of continuous functions defined on [-h, 0].

From [6], the solution (S(t), I(t), R(t)) of (1.1) with the initial condition (1.2) exists for all  $t \ge 0$  and is unique. Furthermore, we can easily show that S(t) > 00, I(t) > 0, R(t) > 0.

2. Preliminaries. We consider stability properties of system (1.1) with biologically reasonable initial values  $\phi$  belonging to the Banach space  $C = C([-h, 0], R^3)$ of a continuum defined on [-h, 0]. Using the following result, we consider an autonomous system of delay differential equations

$$x'(t) = F(x_t) \tag{2.1}$$

Such that F(0) = 0 and  $F : C([-h, 0], \mathbb{R}^n) \to \mathbb{R}^n$  is Lipschitzian. The following lemma is known.

Lemma 1 (see kuang [6]). Assume that  $\omega_1(\cdot)$  and  $\omega_2(\cdot)$  are nonnegative continuous scalar functions:  $R_{+0} \to R_{+0}$  such that  $\omega_1(0) = \omega_2(0) = 0$ ,  $\lim_{r \to +\infty} \omega_1(r) = 0$  $+\infty$  and that  $V: C \to R$  is a continuous differentiable scalar functional such that for a special set S of solutions of (2.1) the following are satisfied:

$$V(\phi) \ge \omega_1(|\phi(0)|), \quad V'(\phi)|_{(2.1)} \le -\omega_2(|\phi(0)|).$$
 (2.2)

Then the solution x = 0 of (2.1) is uniformly stable and every solution is bounded. If in addition,  $\omega_2(r) > 0$  for r > 0, then x = 0 is globally asymptotically stable.

3. The stability analysis for the system (1.1). Let us consider model (1.1). It is easy to show that n = S + I + R is bounded. In fact,

$$n'(t) = S'(t) + I'(t) + R'(t) = b - \mu n(t) - cI(t) \le b - \mu n(t),$$
(3.1)

and there exists  $T = T(\epsilon, n(0)) > 0$  for any sufficiently small  $\epsilon > 0$  such that

$$n(t) \le \epsilon + \frac{b}{\mu}$$
 for  $t > T$ . (3.2)

Let

$$\Omega_{\epsilon} = \{ (S, I, R) \in R^3_+ | n = S + I + R \le \epsilon + \frac{b}{\mu} \}.$$
(3.3)

For any sufficiently small  $\epsilon > 0$ , the region  $\Omega_{\epsilon}$  is an attractive region of  $R^3_{+0}$  for any trajectory of (1.1) with  $n(0) > \epsilon + \frac{b}{\mu}$ . Accordingly, we will restrict the stability analysis of the equilibria of (1.1) with respect to the compact subset  $\Omega_{\varepsilon}$  of  $R^3_{\pm 0}$ .

By computation, it is easy to obtain the following two conclusions:

i. The endemic equilibrium is given by

$$E_{+} = (S^{*}, I^{*}, R^{*}) = \left(\frac{\mu + \lambda + c}{\beta_{1} + \beta_{2}}, \frac{(b - \mu S^{*})}{(\beta_{1} + \beta_{2})S^{*}}, \frac{\lambda(b - \mu S^{*})}{\mu(\beta_{1} + \beta_{2})S^{*}}\right)$$

provided that

$$\frac{b}{\mu} > \frac{\mu + \lambda + c}{\beta_1 + \beta_2}.\tag{3.4}$$

ii. The disease-free equilibrium point is given by  $E_0 = (S^*, I^*, R^*) = (\frac{b}{\mu}, 0, 0)$ , which exists for all parameter values.

We can now prove the following theorem.

**Theorem 3.1.** (i)  $E_0$  of (2.18) is globally asymptotically stable with respect to  $\Omega_{\varepsilon}$  whenever

$$\frac{b}{\mu} < \frac{\mu + \lambda + c}{\beta_1 + \beta_2}.\tag{3.5}$$

(ii) When  $E_+$  of (1.1) exists (that is, (3.4) is true ), it is locally asymptotically stable.

**Proof.** (i) We consider the following Lyapunov functional:

$$V(x_t) = I(t) + w_1 R(t) + w_2 \int_0^h f(s) \int_{t-s}^t I(u) du ds + \frac{w_3}{2} (S(t) - S^*)^2,$$

where  $w_i > 0$  (i = 1, 2, 3) and  $S^* = \frac{b}{\mu}$ . Then  $V(x_t) \ge \min\{1, w_1, \frac{w_3}{2}\}(I(t) + R(t) + (S(t) - S^*)^2)$ . The time derivative of  $V(x_t)$  along the solution of system (1.1) becomes

$$\begin{split} \dot{V}(x_t)|_{(1.1)} &= \beta_1 S(t) \int_0^h f(s) I(t-s) ds + \beta_2 S(t) I(t) - (\mu + \lambda + c) I(t) \\ &+ w_1(\lambda I(t) - \mu R(t)) + w_2 I(t) - w_2 \int_0^h f(s) I(t-s) ds \\ &+ w_3(S-S^*) [-\beta_1 S(t) \int_0^h f(s) I(t-s) ds - \beta_2 S(t) I(t) \\ &- \mu(S(t) - S^*)] \\ &= -w_3 \mu (S-S^*)^2 + [w_1 \lambda + w_2 - (\mu + c + \lambda)] I(t) - w_1 \mu R(t) \\ &+ \beta_2 S(t) I(t) [1 - w_3(S-S^*)] \\ &+ [\beta_1 S - w_2 - w_3 \beta_1 S(S-S^*)] \int_0^h f(s) I(t-s) ds \\ &= -w_3 \mu (S-S^*)^2 + [w_1 \lambda + w_2 + \sigma - (\mu + c + \lambda)] I(t) - w_1 \mu R(t) \\ &+ I(t) [\beta_2 S(t) (1 - w_3(S-S^*)) - \sigma] \\ &+ [\beta_1 S - w_2 - w_3 \beta_1 S(S-S^*)] \int_0^h f(s) I(t-s) ds \end{split}$$

where  $\sigma > 0$  is some positive constant chosen later. Let us choose  $\sigma > 0, w_i > 0$  (i = 1, 2, 3) satisfying

$$w_1 \lambda + w_2 + \sigma < \mu + c + \lambda, \tag{3.7}$$

$$\beta_1 (1 + w_3 S^*)^2 < 4w_2 w_3, \tag{3.8}$$

$$\beta_2 (1 + w_3 S^*)^2 < 4w_3 \sigma. \tag{3.9}$$

The choice of (3.8) is possible if  $w_2 > \beta_1 S^*$ . In fact, (3.8) is equivalent to

$$\beta_1 S^{*2} w_3^2 + 2(\beta_1 S^* - 2w_2) w_3 + \beta_1 < 0,$$

which is true given that  $w_3 = \frac{1}{S^*}$  if  $\beta_1 S^* - 2w_2 < 0$  and  $(\beta_1 S^* - 2w_2)^2 > (\beta_1 S^*)^2$ . Similarly, the choice of (3.9) is possible if  $\sigma > \beta_2 S^*$ . Together  $w_2 > \beta_1 S^*, \sigma > \beta_2 S^*$  with (3.7), we can choose  $\sigma, w_i > 0$  (i = 1, 2, 3), satisfying (3.7), (3.8) and (3.9) if

$$\mu + c + \lambda - w_1\lambda > w_2 + \sigma > (\beta_1 + \beta_2)S^* = \frac{b(\beta_1 + \beta_2)}{\mu}$$

which is possible because of assumption (3.5). Further, (3.8) and (3.9) ensure that the coefficients of the integral and I(t) in (3.6) are negative definite for all S > 0. Hence from (3.6),  $\dot{V}(x_t)|_{(1,1)}$  is negative definite and is equal to zero if and only if  $(S, I, R) = E_0$ . This completes the proof of (i). For(ii), we change the variables to  $u_1 = S - S^*$ ,  $u_2 = I - I^*$ ,  $u_3 = R - R^*$ . From

equation (1.1), we obtain

$$\begin{cases} u_{1}' = -\beta_{1}(u_{1} + S^{*}) \int_{0}^{h} f(s)u_{2}(t - s)ds - \beta_{1}(u_{1} + S^{*})I^{*} \\ -\beta_{2}(u_{1} + S^{*})(u_{2} + I^{*}) - \mu u_{1} - \mu S^{*} + b, \\ u_{2}' = \beta_{1}(u_{1} + S^{*}) \int_{0}^{h} f(s)u_{2}(t - s)ds + \beta_{1}(u_{1} + S^{*})I^{*} \\ +\beta_{2}(u_{1} + S^{*})(u_{2} + I^{*}) - (\mu + \lambda + c)(u_{2} + I^{*}), \\ u_{3}' = \lambda(u_{2} + I^{*}) - \mu(u_{3} + R^{*}). \end{cases}$$

$$(3.10)$$

The corresponding linear part becomes

$$\begin{cases} u_1' = -[(\beta_1 + \beta_2)I^* + \mu]u_1 - \beta_1 S^* \int_0^h f(s)u_2(t-s)ds - \beta_2 S^*u_2, \\ u_2' = (\beta_1 + \beta_2)I^*u_1 + \beta_1 S^* \int_0^h f(s)u_2(t-s)ds + \beta_2 S^*u_2 - (\mu + \lambda + c)u_2, \\ u_3' = \lambda u_2 - \mu u_3. \end{cases}$$

$$(3.11)$$

Consider the Lyapunov functional

$$V(u_t) = \frac{1}{2}w_1(u_1 + u_2)^2 + \frac{1}{2}u_2^2 + \frac{1}{2}w_3u_3^2 + \frac{1}{2}\beta_1 S^* \int_0^h f(s) \int_{t-s}^t u_2^2(v) dv ds,$$

where  $w_i > 0(i = 1, 3)$ . Note that

$$V(u_t) \ge \frac{1}{2}w_1(u_1 + u_2)^2 + \frac{1}{2}u_2^2 + \frac{1}{2}w_3u_3^2.$$

The time derivative of  $V(u_t)$  along the solution of (3.11) is

$$\begin{aligned} V'(u_t) = & w_1(u_1 + u_2)[-\mu u_1 - (\lambda + \mu + c)u_2] + (\beta_1 + \beta_2)I^* u_1 u_2 - \\ & (\lambda + \mu + c - \beta_2 S^*)u_2^2 \\ & + \beta_1 S^* u_2 \int_0^h f(s)u_2(t - s)ds + w_3 u_3 u_3' + \frac{1}{2}\beta_1 S^* u_2^2 \\ & - \frac{1}{2}\beta_1 S^* \int_0^h f(s)u_2^2(t - s)ds \\ = & - w_1 \mu u_1^2 - [w_1(\lambda + \mu + c) + (\lambda + \mu + c - \beta_2 S^*)]u_2^2 \\ & + [-w_1 \mu - w_1(\lambda + \mu + c) + (\beta_1 + \beta_2)I^*]u_1 u_2 + w_3 \lambda u_2 u_3 - w_3 \mu u_3^2 \\ & + \beta_1 S^* u_2 \int_0^h f(s)u_2(t - s)ds + \frac{1}{2}\beta_1 S^* u_2^2 - \frac{1}{2}\beta_1 S^* \int_0^h f(s)u_2^2(t - s)ds. \end{aligned}$$
(3.12)

Choose  $w_1 > 0$  satisfying

$$w_1(\lambda + 2\mu + c) = (\beta_1 + \beta_2)I^*.$$
(3.13)

Note that  $(\beta_1 + \beta_2)S^* = \lambda + \mu + c$  and for any  $u_2$ ,

$$\beta_1 S^* u_2 \int_0^h f(s) u_2(t-s) ds \le \frac{1}{2} \beta_1 S^* u_2^2 + \frac{1}{2} \beta_1 S^* \int_0^h f(s) u^2(t-s) ds.$$

Then (3.12) becomes

$$V'(u_t) \leq -w_1 \mu u_1^2 - w_1 (\lambda + \mu + c) u_2^2 - w_3 \mu u_3^2 + w_3 \lambda u_2 u_3.$$
(3.14)

Further if we choose  $w_3$  satisfying  $(\lambda w_3)^2 - 4w_3w_1\mu(\lambda + \mu + c) < 0$ , then

$$0 < w_3 < \frac{4(\lambda + \mu + c)\mu w_1}{\lambda^2} = \frac{4(\lambda + \mu + c)\mu(\beta_1 + \beta_2)I^*}{\lambda^2(\lambda + 2\mu + c)}$$

Form (3.14) we obtain that  $V'(u_t)$  is negative definite for any  $u_2$  and  $u_3$ . This completes the proof of (ii).

**Theorem 3.2.** The disease-free equilibrium  $E_0$  of (1.1) is globally attractive with respect to  $\Omega_{\varepsilon}$  whenever

$$\frac{b}{\mu} = \frac{\mu + \lambda + c}{\beta_1 + \beta_2}.$$

**Proof.** for any solution (S(t), I(t), R(t)) of (1.1), let us first consider the case (a):  $S(t) > S^*$  for all  $t > t_0$ . In this case, we see that for all  $t \ge t_0$ ,

$$(S(t) - S^*)' + I'(t) + R'(t) = -\mu(S(t) - S^*) - (\mu + c)I(t) - \mu R(t) \\ \leq -\mu[(S(t) - S^*) + I(t) + R(t)].$$

Thus,

$$\lim_{t \to +\infty} S(t) = S^*, \ \lim_{t \to +\infty} I(t) = \lim_{t \to +\infty} R(t) = 0$$

Now let us consider the case (b):  $\varphi_1 < S^*$  and  $S(t) < S^*$  for all  $t \ge t_0$ . Set

$$G = \{\varphi = (\varphi_1, \varphi_2, \varphi_3) \in C | 0 \le \varphi_1 \le S^*, 0 \le \varphi_2, 0 \le \varphi_3\}.$$

We define

$$V(\varphi) = \varphi_2(0) + S^* \beta_1 \int_0^h f(s) \int_{-s}^0 \varphi_2(u) du ds$$

Then

$$V'(\varphi)|_{(1.1)} = -(S^* - S(t))\beta_1 \int_0^h f(s)\varphi_2(-\tau)d\tau + \beta_2 S(t)I(t) + \beta_1 S^*I(t) - (\lambda + c + \mu)I(t)$$

$$\leq -(S^* - S(t))\beta_1 \int_0^h f(s)\varphi_2(-\tau)d\tau \leq 0.$$
(3.15)

Since  $S(t) \leq n(t) \leq \frac{b}{\mu} = S^*$ ,  $V(\varphi)$  is a Liapunov function on the subset G in C. Let

$$Q = \{\varphi \in G | V(\varphi)|_{(1.1)} = 0\}$$

and M be the largest set in Q, which is invariant with respect to (1.1). Clearly, M is not empty, since  $(S^*, 0, 0) \in M$ . From (3.15) we see that that  $V'(\varphi)|_{(1.1)} = 0$  only if  $S^* - \varphi_1(0) = 0$  and  $\varphi_2(0) = 0$ . Note that  $S^* - \varphi_1(0) = S^* - S(t) = 0$ , and the equations of (1.1) imply that  $\varphi_2 = 0$ . Thus, we always have  $\varphi_2 = 0$  if  $V'(\varphi)|_{(1.1)} = 0$ . Observe that G is invariant with respect to (1.1) and that any solution of (1.1) is bounded by (3.1). Thus, it follows from the Liapunov-LaSalle invariance principle that  $\lim_{t\to+\infty} I(t) = 0$ . Hence,  $\lim_{t\to+\infty} R(t) = 0$  by  $\lim_{t\to+\infty} I(t) = 0$  and the last equation of (1.1). Furthermore, note that boundedness of S(t) and

## Z. JIN AND Z. MA

 $\int_0^h f(\tau)I(t-\tau)d\tau \to 0 \text{ as } t \to +\infty \text{ by } \lim_{t\to+\infty} I(t) = 0, \text{ we can also easily have that } \lim_{t\to+\infty} S(t) = S^* \text{ by the first equation of (1.1).}$ 

We now must consider case (c). There is  $\hat{\tau}$  with  $0 \leq \hat{\tau} < h$  such that  $\varphi_1(-\hat{\tau}) \geq S^*$ and  $S(t) < S^*$  for all  $t \geq t_0$ , or there is some  $\hat{t}_0 \geq t_0$  such that  $S(\hat{t}_0) = S^*$ .

If  $S(t) < S^*$  for all  $t \ge t_0$ , observe that system (1.1) is autonomous and the solution of (1.1) with any initial function  $\varphi \in C$  is unique, and by the same argument as that used in case (b) with  $t_0 = t_0 + 2h$ , we can show that  $\lim_{t \to +\infty} S(t) = S^*$  and  $\lim_{t \to +\infty} I(t) = \lim_{t \to +\infty} R(t) = 0$ .

If there is some  $\hat{t}_0 \ge t_0$  such that  $S(\hat{t}_0) = S^*$ , by (1.1) we see that

$$(S - S^*)'(\hat{t}_0) = -\beta_1 S(\hat{t}_0) \int_0^n f(\tau) I(\hat{t}_0 - \tau) d\tau - \beta_2 S(\hat{t}_0) I(\hat{t}_0) - \mu S(\hat{t}_0) + b = -\beta_1 S(\hat{t}_0) \int_0^n f(\tau) I(\hat{t}_0 - \tau) d\tau - \beta_2 S(\hat{t}_0) I(\hat{t}_0) < 0.$$

Thus, for all  $t > \hat{t}_0$ ,  $S(t) - S^* < 0$ , i.e.  $S(t) < S^*$ , Again by the same argument as used in case (b) with  $t_0$  replaced by  $\hat{t}_0 + 2h$ , we can show that  $\lim_{t \to +\infty} S(t) = S^*$  and  $\lim_{t \to +\infty} I(t) = \lim_{t \to +\infty} R(t) = 0$ .

This completes the proof of theorem 3.2.

4. The global asymptotic stability of the endemic equilibrium. In the following, we consider the global asymptotic stability of the endemic equilibrium  $E_+$ by applying the same techniques as that used in [5]. Let us define

$$T \equiv \int_0^h \tau f(\tau) d\tau.$$

**Theorem 4.1.** If there is some  $\tilde{S}$  satisfying  $S^* < \tilde{S} < \frac{b}{\mu+c+\lambda} \stackrel{def}{=} \Delta$  such that the following conditions hold true:

i. 
$$h < \min\{(2\beta_1 \tilde{S})^{-1}, \frac{\tilde{S} - S^*}{b - \mu S^*}\};$$
  
ii.  $b \le \tilde{S}[(\beta_1 + \beta_2)(\Delta - \tilde{S}) + \mu],$ 

then the endemic equilibrium  $E_+$  of system (1.1) is globally asymptotically stable. **Proof.** For any positive constant  $\tilde{S}$  satisfying  $S^* < \tilde{S} < \Delta$ , define

$$\Omega_{\varepsilon \tilde{S}} \equiv \{ (S, I, R) \in \Omega_{\varepsilon} | S < \tilde{S} \}.$$

We can show that the following two assertions are true.

Assertion A: For any positive constant  $\tilde{S}$  satisfying  $S^* < \tilde{S} < \Delta$ , if  $h < (2\beta \tilde{S})^{-1}$ , then any solution of (1.1) will not ultimately stay in  $\Omega_{\varepsilon} \setminus \Omega_{\varepsilon \tilde{S}}$ .

Assertion B: If conditions (i) and (ii) hold, then any solution of (1.1) will eventually stay in  $\Omega_{\varepsilon \tilde{S}}$ .

The proof of assertion A is similar to that show in [5]. Thus, we show the proof of assertion B only.

In fact, if not, by assertion A, there is some solution (S(t), I(t), R(t)) of (1.1) such that, for any positive constant  $\tilde{S}_1$  satisfying  $S^* < \tilde{S}_1 < \tilde{S} < \Delta$ , there are two time sequences  $\{t_n\}$  and  $\{t'_n\}$  with  $t_n < t'_n < t_{n+1} < t'_{n+1}$ ,  $t_n \to +\infty$  and  $t'_n \to +\infty$ , such that

$$S(t_n) = S_1, \ S(t'_n) = S, \ S_1 \le S(t) \le S \text{ for } t_n \le t \le t'_n$$

$$(4.1)$$

and  $\dot{S}(t'_n) \ge 0$ . From (1.1), we get

$$S - S_{1} = S(t'_{n}) - S(t_{n}) = -\beta_{1} \int_{t_{n}}^{t'_{n}} S(v) \int_{0}^{h} f(\tau) I(v - \tau) dv d\tau - \beta_{2} \int_{t_{n}}^{t'_{n}} S(v) I(v) dv d\tau -\mu \int_{t_{n}}^{t'_{n}} S(v) dv + b(t'_{n} - t_{n}),$$

$$(4.2)$$

which, together with (4.1), yields

$$b(t'_n - t_n) = \tilde{S} - \tilde{S}_1 + \beta_1 \int_{t_n}^{t'_n} S(v) \int_0^h f(\tau) I(v - \tau) dv d\tau + \beta_2 \int_{t_n}^{t'_n} S(v) I(v) dv d\tau + \mu \int_{t_n}^{t'_n} S(v) dv \geq \tilde{S} - \tilde{S}_1 + \mu \tilde{S}_1(t'_n - t_n).$$

Thus,

$$t_n' - t_n \ge \frac{\tilde{S} - \tilde{S}_1}{b - \mu \tilde{S}_1} \tag{4.3}$$

and

$$\frac{\tilde{S} - \tilde{S}_1}{b - \mu \tilde{S}_1} \to \frac{\tilde{S} - \tilde{S}_1}{b - \mu \tilde{S}_1} > h \quad \text{as} \quad \tilde{S}_1 \to S^*.$$

$$(4.4)$$

By condition (i), from (1.1), we also have

$$(S(t) + I(t))' = -\mu S(t) - (\mu + \lambda + c)I(t) + b \geq -(\mu + c + \lambda)(S(t) + I(t)) + b,$$
(4.5)

which, together with  $\tilde{S} < \Delta$ , implies that, for any sufficiently small positive constant  $\eta$ , there is a large  $T_1 > 0$  such that for  $t \ge T_1$ ,

$$S(t) + I(t) \ge \Delta - \eta \stackrel{def}{=} H(\eta) > \tilde{S}.$$
(4.6)

Thus, for large  $t_n'$  and  $\tilde{S}_1$  that is sufficiently close to  $S^*,$  from (4.6), we get

$$I(t'_n - \tau) \ge H(\eta) - S(t'_n - \tau).$$
 (4.7)

It follows from (4.3) and (4.4) that we have

$$t_n \le t'_n - \tau \le t'_n, \quad \text{for} \quad 0 \le \tau \le h.$$

$$(4.8)$$

Thus, it follows from (4.1) and (4.7) that

$$I(t'_n - \tau) \ge H(\eta) - \hat{S} > 0, \quad 0 \le \tau \le h.$$
 (4.9)

From (4.1) and (4.6), we also have that

$$I(t'_n - \tau) \ge H(\eta) - \tilde{S} > 0, \quad 0 \le \tau \le h.$$
 (4.10)

Equations (4.9) and (4.10) and condition (ii) enable us to show that  $\dot{S}(t'_n) < 0$ , which is a contradiction to  $\dot{S}(t'_n) \ge 0$ .

In fact, from (1.1), (4.9) and (4.10), we have that G(u) = 0, G(u) = 0,

$$S'(t'_{n}) = -\beta_{1}S(t'_{n})\int_{0}^{h} f(\tau)I(t'_{n}-\tau)d\tau - \beta_{2}S(t'_{n})I(t'_{n}) - \mu S(t'_{n}) + b$$
  

$$= -\beta_{1}\tilde{S}\int_{0}^{h} f(\tau)I(t'_{n}-\tau)d\tau - \beta_{2}\tilde{S}I(t'_{n}) - \mu\tilde{S} + b$$
  

$$\leq -(\beta_{1}+\beta_{2})\tilde{S}[H(\eta)-\tilde{S}] - \mu\tilde{S} + b$$
  

$$\equiv G(\tilde{S},\eta).$$
(4.11)

By condition (ii), we see that

$$G(\tilde{S}, 0) = -\tilde{S}[(\beta_1 + \beta_2)(\Delta - \tilde{S}) + \mu] + b < 0.$$
(4.12)

Thus, it follows from (4.11), (4.12) and the continuity of  $G(\tilde{S}, \eta)$  with respect to  $\eta$  that  $S'(t'_n) \leq G(\tilde{S}, \eta) < 0$  for sufficiently small  $\eta > 0$ . This proves our second assertion.

Now, by assertions A and B, we can complete the proof of Theorem 4.1 by using the following Liapunov functional:

$$\begin{split} V(t,S,I_t,R) = & S - S^* ln \frac{S}{S^*} + \frac{1}{2} w_1 (S - S^* + I - I^*)^2 \\ & + \frac{1}{2} w_2 \int_0^h f(\tau) \int_{t-\tau}^t (I(u) - I^*)^2 du d\tau, \end{split}$$

where  $w_1$  and  $w_2$  are some positive constants chosen later. By assertion B, since  $S^* < \tilde{S} < \Delta$ , there is a sufficiently large time  $T_2 > t_0$  such that for  $t > T_2$ ,

$$S(t) \le \tilde{S}.\tag{4.13}$$

The derivative  $\dot{V}(t, S, I_t, R)$  of  $V(t, S, I_t, R)$  along the solution of (1.1) satisfies

$$\dot{V}(t,S,I_t,R) = -\delta[(S-S^*)^2 + (I-I^*)^2] - \frac{1}{2}\int_0^h f(\tau)[Q(t,\tau)B(t,S)Q^T(t,\tau)]d\tau$$
(4.14)

for all  $t \geq T_2$ , where  $\delta$  is some positive constant chosen later:

$$B(t) = \begin{pmatrix} 2(w_1\mu - \delta + \frac{(\beta_1 + \beta_2)I^* + \mu}{S}) & w_1[(\beta_1 + \beta_2)S^* + \mu] + \beta_2 & \beta_1 \\ w_1[(\beta_1 + \beta_2)S^* + \mu] + \beta_2 & 2[w_1(\beta_1 + \beta_2)S^* - w_2 - \delta] & 0 \\ \beta_1 & 0 & 2w_2 \end{pmatrix},$$

$$Q(t,\tau) = (S(t) - S^*, I(t) - I^*, I(t-\tau))$$

We can easily see that the symmetric matrix B(S(t)) is positive dominant diagonal for every  $t \ge T_2$  if

$$\frac{2[(\beta_1+\beta_2)I^*+\mu]}{S} - 4\delta - (\beta_1+\beta_2) > w_1[(\beta_1+\beta_2)S^*-\mu] - 2\delta > 2w_2 > \beta_1 \quad (4.15)$$

Let us choose  $\delta$  small enough such that

$$0 < \delta < \frac{(\beta_1 + \beta_2)}{2\tilde{S}} (\Delta - \tilde{S}).$$

Then, for all  $t \geq T_2$ ,

$$\frac{2[(\beta_1 + \beta_2)I^* + \mu]}{S} - 4\delta - (\beta_1 + \beta_2) > \beta_1 + \beta_2 > \beta_1.$$

Note that  $(\beta_1 + \beta_2)S^* - \mu = \lambda + c > 0$ , thus, we can easily choose the positive constants  $w_1, w_2$  and  $\delta$  satisfying (4.15). Hence, it follows from (4.14) that for all  $t > T_2$ ,

$$\dot{V}(t, S, I_t, R) \le -\delta[(S - S^*)^2 + (I - I^*)^2],$$

from which we have that for all  $t > T_2$ ,

$$V(t, S, I_t, R) \le V(T_2, S(T_2), I_{T_2}, R(T_2)) - \delta \int_{T_2}^t [(S(u) - S^*)^2 + (I(u) - I^*)^2] du.$$

Thus,

$$\int_{t_0}^{\infty} (S(u) - S^*)^2 du < +\infty, \quad \int_{t_0}^{\infty} (I(u) - I^*)^2 du < +\infty$$

By (1.1), we see that  $d/dt(S(t) - S^*)^2$  and  $d/dt(I(t) - I^*)^2$  are also uniformly bounded for  $t \ge t_0$ . Thus, the well-known Barbalat's lemma shows that

$$(S(t) - S^*)^2 + (I(t) - I^*)^2 \to 0 \text{ as } t \to +\infty.$$
 (4.16)

That  $R(t) \to R^*$  as  $t \to +\infty$  is an immediate result of (4.16) and the third equation of (1.1).

The proof of Theorem 4.1 is completed.

Theorem 4.1 gives a sufficient condition for the endemic equilibrium of system (1.1) to be globally asymptotically stable and also needs that the system with sufficiently small delay h. Theorem 4.1 extends the results in [5].

Acknowledgments. This work is supported by the National Sciences Foundation of China (10471040).

#### REFERENCES

- K. L. Cooke, Stability analysis for a vector disease model, Rocky Mount. J. Math. 9 (1979) 31-42.
- [2] S. Busenberg and K. L. Cooke, Periodic solutions of a periodic nonlinear delay differential equation, SIAM J. Appl. Math. 35 (1978) 704-721.
- [3] P. Marcati, A. M. Pozio, Global asymptotic stability for a vector disease model with spatial spread, J. Math. Biol. 9 (1980) 179-187.
- [4] R. Volz, Global asymptotic stability of a periodic solution to an epidemic model, J. Math. Biol. 15 (1982) 319-338.
- [5] Y. Takeuchi, W. Ma and E. Beretta, Global asymptotic properties of a delay SIR epidemic model with finite incubation times, Nonlinear Anal. 42 (2000) 931-947.
- [6] Y. Kuang, Delay differential equations with applications in population dynamics, Academic Press, San Diego, 1993.
- [7] E. Beretta, Y. Takeuchi, Global stability of an SIR epidemic model with time delays, J. Math. Biol. 33 (1995) 250-260.
- [8] E. Beretta, Y. Takeuchi, Convergence results in SIR epidemic model with varying population size, Nonlinear Anal. 28 (1997) 1909-1921.
- [9] E. Beretta, T.Hara, W. Ma and Y. Takeuchi, Global asymptotic stability of an SRI epidemic model with distributed time delay, Nonlinear Anal. 28 (1997) 1909-1921.
- [10] Jorge X, Velasco-Hernandez, A model for Chagas disease involving transmission by vectors and blood transfusion, Theoret. Pop. Biol., 46 (1994) 1-31.

Received on December 20, 2005. Revised on March 24, 2005.

E-mail address: jinzhn@263.net